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2) First mnpn
a) WP YA is Raw
b) wpa wnn is M




3) Second nTpn

a) When the o°1770 answered x»v or 2w they referred to the last item in the relevant
of my~11 as we’ll explain

4) xna as explained by *"wn
a) 21 says for 'x »n —table 1 column 1

i) the oo were v in 'K *an when they said 117w because the chain of the myoaa
extended only to *¥>2n

i) Note that

(1) "7o%n 92 5R1 MW" means "Rk 737 IR 1w " — the meaning isn’t "Xp17" in
the sense that 7> touched 12w and 12w touched 2oxn

(2) because
(@) if the meaning is X117 and 1 touched 12w and 1»w touched 7oxn

(b) the oxn would have been *w>nn and the 01775 would have been correct
that the Soxn is 2w

b) 21 for'an—table 1 column 2
i) "wo1Xknu" means the axmwvI AR of N knv
i) The 07172 weren’t 710 when they said xnv because
(1) "a%% 902" in "2 »am refers to the same chain that was &nviin 'R *an

(2) And "2 »an differs from ' »ar only in that in ' *an the on% was xnv1 by the
R 2Rk of yaw while in 'a »n the an was &nwi by the axmvs ax of xnv
ol

c) oxmw for 'R *an — table 2 column 1

i) the o215 weren’t 7w in table 2 column 1 when they said <nv because nn"
"n102 ¥yaw was added to the chain of the my a1 and extended the chain to >w>nn
that’s 10

d) xmw for 'a »an — table 2 column 2

i) It’s a X120 that %% 9321 in 2 °31 doesn’t refer to the whole chain of 'x »»n that
begins with yaw i — instead it refers only to the part of the chain in x "an that
begins with an® because on? is the first specific item named in 'x »xn

i) it follows that the o°175 weren’t 731 when they said &»wv because the chain of
the my»31 extended only to wp3a *¥*27

5) X
a) Nwptoan
1)  Why is it that the o°375 were ¥ in 'R *a17 but not in "2 »n
b) vynof yan 29



i) The o°175 weren’t 1PX°p2 on the nxmwn a8 of yaw in '% »m in table 1 column 1
but they were &>p2 on the axmw7 2R of N Xnw in'2 237 in table 1 column 2

c) ynof kran

i) '2°an deals with the chain in table 1 column 3 — not with the chain in table 1
column 2

i) The words wo17 ®»v in "2 %31 don’t mean "nn XxL" that’s an I8»L7T 28 and
instead mean the nxmw of ¥y N that’s an XMV MAIR IR

iii) Now
(1) The o175 weren’t PR°P2 in ARMIL? *v°27 and that’s why they were 73 in
'} %211 when they said < in table 1 column 1

(2) The o175 were PXP1a in XMWY w7 and that’s why they weren’t 730 in
"2 *311 when the said &»v in table 1 column 3

6) mooin
a) Nwp to"wn

i) Instead of saying for “xmw in 'x °xn1 that there was the additional step of nn
£132 YW

ii) why doesn’t >"wn say that "7a8» %5 Hx1" is "xp17" and means that 1> was va in
the 1w and the 1w was then vai in the %oxn — as in table 2 column 3 — so that
the oxn was *wnn and that’s why the 0°1775 weren’t n3v when they said =1

7) X"wann
a) xwp to the xwp of mooIn
i) we’ve explained for >"w~ that
(1) Sxmw for "7%x 552" in '2 731 in table 2 column 2

(@) relied on a %120 to say that the words refer only to that part of the
chain in ' *an that begins with an and not to the whole chain in 'x *an
that begins with vxw nn

(b) and that’s why "2 *x1 ends with *¥°27 that’s &nv
ii) but
(1) if >"wn were to explain that 2oxn 5 9X1 is Xp17 in 'X a1 and adds to the
chain as in 'k »ar7 as in table 2 column 3

(2) there’s no &720 that would explain why %3871 %3 %R in 2 »an is different
than %oxn 22 587 in 'R °an7 and isn’t RP17

(3) so it would follow that 2axn in "2 »ar is *w nn as in table 2 column 4 and the
0°3715 should have said mmv instead of xnv

b) 10 to explain the x>wp of mdoIn
1) First nnpn



(1) mooin disagrees with the X720 of »"w and mvon says that since the chain
in 'R *an1 begins with yaw nn it must be that 75x 932 in 'a *an refers to the
whole chain in 'x *a11 that begins with vaw 17 as in table 2 column 5

(2) so we anyway have to explain for x1w why in 'a *an the chain doesn’t
reach wnn

i) Second nnpn
(1) ®wp to"wn

(@) All that x1°21 in the x3pon actually says for 27 is that o7 “wSw xa7"
"y329

(b) x327 says nothing about wo1 Xnv meaning %y nn
(c) So the 9>y of the mx»a by >"w~ of the nv>w of X127 is 0O 11 "on
iii) It’s because of these nywp that mooIn holds contrary to >"w- that

(1) the xma realized from the start for 21 that table 1 column 3 is correct that
the chain for '2 a1 begins with vxy nn and reaches only to *v°>w and that’s
why the &3 didn’t need to explain that X127 holds that ws1% &b means
XY NN

(2) The xmx asked that if o°1772 were v for 27 in 'K »an for yaw nxkmw then
the 0°1775 should also have been 7y in ' °37 to XY N NRMY

() jmma 27 answered that the 0°170 were PROP2 in Mgy N nkmw of '2 3 but
not in the yaw nxmw of 'R

(b) X127 answered that the o°1775 were PRopa in v 5w nkmaw of 2 “an but not
in >y>27 N of 'R *an
(3) it follows that

(a) mooin for their muew — but not for the nw>w of *"wn — can correctly ask
that ¥23w nn isn’t necessary for Hxmw in 'R »am if 2o87 92 is X171 and the
chain reaches *wnn as in table 2 column 3

(b) And

(i) it’s not a X°wp that this would also lengthen the chain in 'a »an to
W

(ii) since the chain starts with vxy nn and still would end only with
*y°27 as in table 2 column 6
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1) mnpn
a) 'Roan

1) 229K 1AW DRI 1O ORI 1IN DRY OnD 9K 19102 VAN 1732 102 WP WA WOR KXY 17
WP PORN

i) K2 178 0°1797 129N
b) '2°an
i) RnYHTAOR 932 Wo1 RHY Y AR AT MR
i) RnL AR 022727 YN
2) XM

a) 17 holds that X’ *27 *pwn — for example oo o7 7 and 1w —are AR Hapn
XN>7RT but aren’t 2K XA

b) aoxw
i) How does 17 explain the nYoxw of *xr1 in the prior 1127
c) mawn
i) "PwxaI0 vt
3) "wa—Rm
a) When the 221715 said Mmv in 'X *ar7 they were correct because

i) the 7oxw that *»r asked was whether 1> that had become xnv as a *w»w could
be 1w &nun to be a *y*27

il) and the o172 correctly answered that the 1aw was "mv because ®°naTn "2 *pwn
aren’t D>INX XNLN

b) When the o°372 said &»v in 2 *an they were also correct because the m5xw that an
asked was whether a nwxn could be ®nwn both 1> and 2w

4) R"wamn



a) Four nywp to >"wn
i) First xwp

(1) The nw> of the xna suggests that the 1> and 1nw were 1wx92 Raw: both
in '} a7 and in "2 °an

i) Second x*wp

(1) If the only difference between '} *ar and '2 »ar is that in "2 °r7 the 1 and 1w
were xnwi together

(2) Why is it relevant that in 'k »xr the nxmw began with yaw nxiaw while in
'3 7311 the nxmw began with wo15 R

iii) Third xwp

(1) Why did »xn1 in ' *xn set out a case where the 1> was only a *w%w

(2) when the 12w would not have become xnw even if the 1> were a wxn
iv) Fourth xwp

(1) For 'a»xn why does the x 3 emphasize that the 1> and 12w were R
because both were Wi Xawl

(2) The result would of course have held been the same if they were both
RNV 2R KNI

b) yn
1) Here is anew nmvuw for the x7na that’s different from the 7v w of *"wA
i) "% says that

(1) »xn realized that o175 knew that 1°pwin can become a axm? 7w based on
"Raw"at 77 'R X1p» that deals with ppwn that were xiavi by yaw

(2) »»n by his n¥oxw wanted to see if the o°137> also knew that 1pwn can become
a IRmwv? 1w

(@) in'x a1 in a chain that begins with y=w that was &»v» a Pwy that in
turn was Xnun both 1> and 7w

(b) and in "2 °a17 in a chain that begins with n» K»w that was xnvn a Pwr
that in turn was xnvn both 1 and 1w

iii) Neither of his m%xw involved a *w°>w or a *y°27
iv) now

(1) The ooan> were 7v1v in 'R *an because the 20170 weren’t PR in ¥ DR
and didn’t realize that a chain of 7xmw that begins with yaw can result in
Pwn that are a »aw

(2) The o175 weren’t v in "2 *3n because the 20175 were 1°R°p2 in nx NRIAY
and realized that a chain of ixm that begins with n» &nw can result in
TPwn that are a 1w
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RNVMIRT PRRWHA IRDIY NART D9W9T RND2 79 TR 77 KD 7IR0D "0 2v0a w''n
RNYN2 72 ORT D' ppapa 'R 29902 D' R RNODT ORT DWW 1O RNN2 TIRT
R® 299221 PR NRMIY DY 1713 1127772 KPR RNMIMIRT IRD PRwn nR#wT X' 700
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1) First nnTpn

a) 0192 means in the wipn

b) ya means out of the wpn
2) Second nnTpi

a) VPP 0o YN isn’t RNMIIRT AR Papn because it’s XNPIRT Mpn? MR but 1329
were 3 that ¥papa oo N7 is 7Ina IR 2apn

b) 'R xn™aat.mw a7
i) wynw " holds that Xn>>RT Ppwn DR
C) "axp™a
i) ynw " says
(1) yn2 pa oo pa PRuv o901 o)
(2) 20192 R I PRAY VPP 0o MY
3) XM
a) Noo I
i) Ppwn are 0°192 PNIw based on »on nwn? 1397
b) xwp

1) 1ynw " who says in '& ®n*92 that Xn»x7 Ppwn nraw and who also sets out
the n12%77 in '2 Xn1a can’t agree with Xoo 27 that ppwn are 0°192 v based
on °1°0n IwnY 19971

i) Because

(1) Although we’d understand for nynw ' that PXnv yina o°%a since nxmw
Xn»7IRT 1pwn and for yIna there’s no “on qwn? 72%7 that would be avn
the 0°%>

(2) Still for o°192 0°%2 we’d have to say that a 73297 77°12 overrides the 73%7
1901 nwnY

(a) yet

11



(i) 7327 wouldn’t be nvn themselves to make a 771 for 0°192 0993
without also making a n°1a for %192 ¥pp

(i) ¥pp *% i o095 %% T
4) R"wan
a) Nwp

i) The % nx could have been 7>7on the v w of x99 21 based on '2 kn>>12 alone
this way

(1) xwp
(@) It must be that 'a xn»92 holds that 1pwn nrmw is kn>>xT because
(i) otherwise o>2> would be &»v both o°192 and yn2 only by 13277 7901

(if) and 1121 wouldn’t be 7w to be a1 for o°192 295 unless they were
also s for o°102 ypp

(b) and once we know that 'a xn»92 proves that nw»w ' holds that nxiaw
PRwn is XnoRT the X°wp we’ve asked to &99 21 from '} Xn»92 applies
also to "2 xn»M2

b) y»en

i) 'axn1acan hold that Xn»RT WK PPwn kv and 1327 were 7w to be T for
0°192 0°751 — even though they weren’t also 3 for o°192 ypap — since 1120
anyway needed to be = for yina o095

c) Nwp
i) Then why doesn’t 895 27 answer the xwp of the X3 from 'R Xn>°12 this way
(1) It’s correct based on 'x &n>92 that

(@) nynw " holds that xn»x7 pwn NI So that were it not for a 71
11277 the 2°%> would be 2°192 1170 because of 1901 nwn? 1351

(b) And o°%5 are yIn2 o°Xnw because Xn>TIRT PRpwn nXmw and the 7397
on wn? doesn’t apply Y2

(2) still 1121 were v to be ama for o°192 0993 — even though they weren’t 7na
for o°192 ¥pp — because they were also ana for yina vpap

d) y»n

i) Only if 1327 were 1w for yina o°%5 can we accept that 1327 were nw for o095
0°192 even though they weren’t i for 0°192 vpp

DT 7ax a"T21 "D 9"Ix A" "M'wN

"D RNMIRT TITOT IRMIWVT 10 P97 N2 PR 27 BaN 7772 "0 2R M2 w2
"> 29n% WPNIR KD 2OWTR 277 29952 19IBN DY 7Y WY 272 3ans "0 ban b''oy
TAYH KDY W27 PIYY ROR 299 20T 27 WPNOR RO npTh Iy w''y B0y

9P DT IRMIY TIADD PRI IR
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AT Xp'70 'R1EN"T MWl X2 AT TN

FTMINDDT DM DO "D TP IR PRW SWIFRD "D 9107 90 "D MR N2 1772
N7 PR RAUD RPI7 ORTY DR 3237 RPAWIT RN N2V 33297 990 929007 23 5y ON
T2 R2OR IPRWH 23T RRAWO DaR 12 RID TR NP PRI RAT XAV 702 2dN0TH
STIT ATIMIIN2 KAV T 2302 77107 3'TRT TIARP IDIRY RIT IPRA RRUD 1921 DOIN KRub
SN 2ON2721 RIT RAW 230072 DN RRVD KDY PR RAUD KPR IR D21 9257 RN
NN 12 RIPD TR IRHW PRT VYAD KOR MINT N2 MR M2 WD 7T KAV IR

9''PY RPEI RIT RAUAT RIP TR K D2I1R2T Ipwna

NPV PPwnRT 90n DOIN MWIWAD TURINTAY 15 RAWY ORT 70 R 7''73 Y"'wana
TRV PR KAV RIT 200272 RIR TLINTAD TR KD RAUO RRWY 77 X7 9'OY

1)

2)

3)

4)

'R NRP PR RAUD HOIN 23 20057 RAWY RAWY 2"V 12 R3S
First 7a7pn
a) A7 'R RPM
i) RnY> 12102 WK 931010 KR 071 2100 MWK DI 09D HI
b) Twnain 7o P
1) xw™M
(1) Rnw oon PHY R WK PIRY WK DN 2on
i) x5°0
(1) Rnw2 292 22 WS WK APWwn 90
C) 'm? 'R RPN
1) 02% X7 XML 1PHY oN%23A 991 YT HY 0O 1N 0
Second 7P

a) Note that the xw1 of 7% p10o deals with 1°951% while the x9°0 of '1% P05 deals
with ppwn

Third 7P
a) NPy "M

i) "Nnw"inthe xwn is read »°x nno2a to teach that 1w 19518 are o>nR Rnawn to be
72 W

i) "&nv " in the x9°0 is read >7°¥ nno2 to teach that Ppwn are oonk Xnvn
Rlab!
a) ToRw

i) Is it possible that the x»wv in the &5°0 that deals with Ppwin teaches that ppwn
are pwn Xnvn and doesn’t teach that Ppwn are 201X Xawn

b) n2wn of oo 21 as explained by mooin at 1xn 89 "7
i) "N1W7Xn0"in ‘M2 poo teaches that "xnv 12 XX PRI XL R

14



c) 7awn of X121 to be explained by msoin and &"wnan below
i) 72M7 1% RIPT PD1IN AR

1) PPwn P2 YR PR PRWR RALA PRWA TWR RNX MNNIRY RDDT XY WK 7"0 X7
I
RLY 717 XX Xp2 29007 R

(2) % nn% o1 7N
i) Y21 NRNIV KNV? RDDT XAV PRWR NRMIV RAL? RWOIT R1L® KR
5) R"wannat ®r270"7
a) anTpa to the M2 of mvoIn

i) Unlike x99 27 who derives from X7 x»v that neither 199518 nor Ppwin are
772 KX PRAVA

i) X127 says that
(1) since xy1 xnw refers to var 5 and deals only with 7o
(2) the P71 of 101 ®v X177 can teach only for 1951% that 12 XX Xnvn 1R
b) As aresult mooIn asks to X121
i) say that
(1) xnv> of the xwn

(@) that deals with %51x and according to x2°py " is read with *2°% nins to
teach that 2>nR *Xnon 218

(b) must teach only with ok that are ypwn since we already know from
X177 X that 921X isn’t 12 XX Xnwn

(2) But xnw° of the xo°0

(a) that deals with ypwn and according to &2°py " is read with >2°% nino to
teach that o>anX “xnwn PPWH

(b) deals with o nx that are 1pwn as well as 129218
c) And maoin answers that

i) To reach this result one xnv> would have been enough for both 2ok that are
D°InR Xnwn and Ppwn that are 2R Rinwn

i) Since
(1) from xy7 xnw that teaches that 17518 aren’t 192 Rnvn we’d realize that the
Xnw> can only teach that 1°%51% are Ppwn Riawn

(2) and we’d also realize that the same xnv> teaches that ypwn are &nvn both
120w and ypwn since the v n from X177 81w doesn’t apply to 1pwn

iii) The second xnw* is therefore a 1> and — since vYX? X9X 1277 IR M2 PR — iS
a vwn that teaches that Ppwn also aren’t 172 XX Ravn and are Xnvn only
7799R

6) °"wn at Tny7 RO XY "7 as explained by x"wann

15



a) We can be p>>7a that P22Ix are ok &nwun because the p10o needs to say X177 R to
teach for P20 the exception that X 12 X1 PR

7) X"wannat "o R A"y
a) Actually

1) for X127 it’s from RnY* in the X that’s read *7°% nnoa that we know that
TPHIX are 0>nR Rnavn and X 87w is needed only to teach that it’s only Ppwn
that P2oIx are Xnon

i) The p»7 from X177 Xnw that PR are onk &nwvn is needed only for kT 187
who aren’t w7 this Rnw> with >% nno

O ani "N

PWRT HDIRW 71301 2" 50 1D HOIN RV KD D2IN Namm PRAT PR "o s e
29799 T99IMRY 9927 DOINTY MR SRR IR DO 117 9952 ORT MDA PR YAl
:9''PY 90929 9799 DR K97
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22X T"N2 NIYOoIN

N7 2''op "D 12 RETD R PRW DD 1T DN RRLR IR PRY 71 PaN 7''N2
9T NI AT MR RAT RIW PT WIRT RWT RIT 9T 2R RSB 7 NoOMW
TAPD DAR PR RAUR PPN PRY RN 191 DOIR RRAUA DOIN IR 77RR RI1T P
TPT7 AR D2IN RALR WINW DR 0D XAV WIR DN RAURR apwR a1 "'p Ay
12 RE1D TR RW DY 11T DOIN RPALR DOIN PRY TTAT RDD T TR KD "0
N2 D2IN PIRW 77 RIT 71072 KDY RIT NOAN RO RNT IPWHR RIT POUT 2000

2171 DR TRRIY A DOIN RAINT 19057 KUK an7 TI5nD X2 BN

M2 RRAVA PR 21N RRVAW IPWR 721 990 KRR 92IR PRT 12097 V'R X127 ¥
TTPWR 1Y 'RR PR DR ORRYY KD 971 DOIN 2R N''RY NIRRT Dya and "o YoN
Y PRRWHR XAV KDY TR DIIR RRAVR WRW DOIN IPWR RAUD R DR RRLAR
TR 2RI "D RPVAR DOIR 71 1R ORI DOIN KA KD M1 ApRwR TRUL 20w
B'op "D RPN RRWY AW WATR 799 DIRY [2190] RRwn apwn X9 [2190] Nnwn IR
NP RAWVOT TWIT RAPIRDY 7209725 ROOKR 1''9 177 777 X201 ART 29771272 13927 1K)
1997 1TINNT RAWY RAVIN 'R 9NN 17 MIPD KON 1" 9PHT 'R IN0DY o7 NN
PTIORT 2R 0D RRVD RO W7 1''PT '0INT NWORD 2D IRTIT RDUR 9D KU
RPUD IPWRT KAV PR RAwD DOIRT RAWY 2P 2RI AR AT WoR KT RTW

2'"7 DN

1) First nnTpn
a) "R RPN
1) XPY12IN2 WK 931010 DR 0 21D WR 0 090 9
b) Twnain'7> poo
i) Xu™
(1) xnw> oo 1LY K12 WK DIRY WK DN N
il) X9
(1) x> *H3 02 anws WK IPwn 9
C) 'm? 'R XM
i) 03% RI7 XNV 1OV anhaI 1 YT DY 0 1N 00
2) Second mnTpi

a) Note that the xw™ of 7% oo deals with *25 nann 1% while the x9°0 of '7% poo
deals with “95 nann Ppwn

3) Third an7pi
a) RpPY "M

i) "xnw"inthe Xw™ is read >7°% nnoa to teach that »aw Poo are o>k xnawn to be
772 WL

ii) "xnw"in the x9°0 is read >°¢ nno2a to teach that *25 nnnn pPpwn are o>INR RPN
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4) Fourth mnpn
a) A 9> that’s an aR?IWT 2R IS XnLH another 25 to make the second °%5 a WK1
b) A% that’s a WX isn’t Xnawn another 2> to make the second *%5 a "1w

5) Fifth mnpn

a) TpPwn aren’t RN™IIRT 0°93 *RNLA

6) X as explained by X"wAmn

a) Nwp

i) In the prior m2>7 we established for X1°27 that 82°py " is w17 the Xnw» in the
890 to teach that the "o>anx" that *95 niann pwn are Xnwna is PR since it

can’t be that Ppwn are Ppwn Xnun

ii) But why can’t we at least say that the xo°0 teaches that *%3 nnrn ppwn are

D2 oxnun as well as P18

b) v n

i) 'R mm 9p proves that °95 nnann Ppwn aren’t *93 Xnwun

'R M R

ROURY 1R 20
Tpwn

92 RpLA PR

TR Y95 nann PPwn
1R 993 o170 OPT

93 PRALA TIRY W 9on
WR R R PT WNRT

uRR RN
7) mooin as explained in X"wann in PaR 5"7
a) Nwp
'\ jul 'R
PRAVAY PPWA 791 RnURw DI 1 TR 93 MY | 'R
7PHN Pwn TPWN Rnunw
PPWR PRLA IR 5% DI RnLA PR DI RALA PR | "2

RX1D WY PRY 97
12

12 KXV AW PRY

MRRAVR JIRY POON
TRY 707 PRI
12 RX1°D WY

INALR JINY PPRn
PRY 907 Ppwn
12 KXV W

B> nRnR PRwn
DY YPT NWRA
7R3 993 onT

TRYRY 19V o1
IR PN Nnnn
WRT PO PRAVA
MON RAT R PT
uRR R

PR2RW 12w 7o
IR PPWH N
WIRT PR PRALA
WIOR R RIOW PT
AR MR

IPRY 12w 91

7 RT 290 PRAVN
IR R R
R RN
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i) Note that
(1) "2 9 m %p and s mm %R have the same structure as '® m %p
(2) Since they’re also based on the X120 that ™17 17 o1 K27 RPW 17 10R"
ii) So
(1) derive from '2 mym 5p that Ppwn nnma PR aren’t 1Ppwn Xnun
(2) and derive from '3 =M 5p that 19218 niann PPwn aren’t PR Rawvn
b) v
i) 'R 9p is o°9x because

(1) the X9 p that a wrn 22 isn’t Rnwvn a >3 is a result of its weakened nxnw as
a R

(2) proof is that a xmILIT 2K 7 IS Knvn a "9
i) Contrast "2 mm %p and '3 M Hp
(1) where the inability of 2o1& to be %21 ®avn and of Ppwn to be Ppwn xnwn
(a) isn’t a X7p based on the weakness of their xm

(b) and is instead derived from o>71m°% that teach that Xx15 7w IR0 PR
1

8) X7 qwnn
a) oRw

1) We established in the prior m2°7 that X2°py '3 is w7 the Xnw» in the Xws= to
teach that >25 nnnn 2218 are Ppwn X

ii) But maybe the xnv> teaches also that >25 nnnn 1P9IR are 0°93 Xnwn
b) y1n
i) '7mm 9p proves that *93 nann Po9IR aren’t 2°9 XV

7

93 noana PRwn e | 'R
PO PRAVNY

93 PRALA TR | 2
'R 1"P2 RN

RMAWR JORY PUR | 1
PRY 997 POoN
12 XXV AW

7RO TR PTIOR | "7
i)

9) >"wnat 2R Xnvn apwn 77 0N ' TINY
a) The xa could also have relied on (2)x M %p that’s the reverse of 'R M Hp
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2R MM 9p 'R M 2R

RRUAW NWRI 9D 72 | RALAY PWRI DI o | 'R
el Al

92 LA PR DI RPUA PR | "2

B> nnnn YN
DY MPT NWRI
1°R2 990 monT

B> nRnR PPwn
DY MPT PWRI
1°R2 790 monT

IPRW 1DW 997

77 I1°RT 790 PRAVA
A7 MM RAT RV
pAlala)

IPRW 12w 9

77 I1°RT 790 PRAVN
A0 oA RAT RV
127

10) X7 qwnn
a) Xo7oto'7 MM op

"7

95 nann PR am
TN PRAVAY

9D PRALA TR
'R 1"P2 IR1ND

ARMALR JINY PUOIN
PRY 07 PN
12 XXV W

TR JPRY 7T IR
ki)

i)  Why do you assume that *%5 niann P22 are 7°p relative to *95 nann ppwn
because P21 Xnun 198 PR while ppwn are 19218 Xnun

ii) Say °%5 nann PO are an because P9I are Ppwn Xnwn while Ppwn aren’t
TRPWH RLA

11) X"wonn at 7ax "7
a) Nwp

i) Why doesn’t the X3 instead ask that '7 °mym %p should be 979w by the same
X270 that mooIn applied to '2 9mm 9p and 'x mm %p

i) Namely that

(1) the inability of 521x to be 921 Rnvn in '7 9mm 5P isn’t a X9 based on the
weakness of their nxmw

(2) and is instead derived from o>71m°% that teach that 12 Xx12 nww axmY PR

‘7 ‘J\ Y: ’x

RAUAY 99X M

93 NAnn PRYR )
PO PRAVAY

PRAVAY PPWR 791
7998

pPwn

NwRIMHI M | R

TRPWR RNw
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9D PRALA TR
'R "2 R0

PRWR PRALA IR
KX W TRY 259
1

DY DO Rnun PR
12 RX1D VW PRY

92 RpLA PR

SRRLR R PYDN
TRY 09 PRI
12 XD WY

SRRLR R PYON
TRY 09 PN
12 RXD W

ARRAUN TN PPRWR
PRY 907 PPRn
12 KXV W

SHa nAnn PRYn
DY MPT NWRI
K2 795 1on7

TRAUA JORY 7T IR
ki)

PRVRY 19V 9on
IR TN Nnnn
IRT PPN TRAVA
oM R RTW 7T
hlaTaRlaly

TPOIRY 1w 91
IR PPWNH Nann
IRT PPWA 1RAVA
1on R RTW 7T
1207 N

PRY 10w 91

77 I°RT 770 PRAVN
A0 oA RAT RTW
127

b) yynof X"wann part 1
i) For'aammop

(1) Parts 3 and 4 of '2 1 m %p are the 17 7p°v that note that pPpwn are 2°p
because they aren’t Ppwn Xnvn and conclude that ppwn nama 19918 can’t be
TPWwn Xnun based on the X120 that "ann 1an 1197 X2 KXW 7 I0K"

(2) Since part 3 of x7 9 is based on a 7% the x37°5 of moon applies that
there’s no proof that Ppwn is 9p and there’s no support for the X1p0n in part
4

i) For s amm5p

(1) Parts 3 and 4 of ' amm 5p are the x1°7 7p°v that note that 2o are 7p
because they aren’t 17218 &»vn and conclude that 17518 nama 1°pwn can’t
be 1991 Xnun based on the X120 that "an 0 Mon R RT°W P7 IR

(2) Since part 3 of X179y is based on a 7% the 8575 of moon applies that
there’s no proof that 921X is p and there’s no support for the X1pon in part
4

c) v1nof ®"wonn part 2

i) Contrast "7 9mm %p that isn’t based on "% 2an MO X273 KXW P7I0KR" and is
instead a standard “mm %p from a 7nan to a Bp and transfers the 17 9> in part
2 of the amym 5p from the 7 to the Hp

i) Now it’s true that
(1) "7 m Hp also needs part 3 to explain that 1201 are 2°p relative to ppwn
(2) But it’s only to &1°7 9p°v that the x37°5 of moon applies
iii) And this is why the X na is limited to the X275 we mentioned earlier
12) R Hva
a) TP
i) Unlike ®"w=n who understands the nywip of the xna to be
(1) how do we know that Ppwn are P22 *xnun but aren’t *22 xnun
(2) and how do we know that 1721 are Ppwin *Riavun but aren’t *55 Xaun
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ii) &n7 Sva understands the X this way
(1) first

(a) the xnv> in the xo°0 can teach either that ppwn are 1PH2IR Xawn or that
TPWwn are >3 Xnun but not both

(b) the xa asks that maybe x5°07 Xnw° teaches that 75 *Riaun 1pwn and so
isn’t available to teach that Ppwn are 1P921x *xnon

(c) the xma answers that based on 'R 21 9p it can’t be that “Raun pwn
"

(2) second

(@) the xnv> in the xw>n can teach either that 19218 are Ppwn xnwn or that
799X IS °75 Riavn but not both

(b) the xna asks that maybe Rw>7 xnw> teaches that *52 >xnun 128 and
isn’t available to teach that 1791 are Ppwn XA

(c) the xma answers that based on '7 2mm 5p it can’t be that “Xnwn P
Lk

b) xwp of Mxn Hva

i)  Why does the x7nx rely on "7 21m 9p to teach that xnw> in the Xwn can’t teach
that *%5 Xnun P92I1R S0 the R is 719 to teach that Ppwn xnwvn PR

ii) Say the reverse that based on ' 22m 9p it can’t be that Xnw> in the xw™
teaches that pwn “Xnun P and the Xnws is therefore 7101 to teach that
93 RNLA PYIN

b

TRAVAY TPWA T
779918

TRWA R0 TR
RX1D WY PRW *9H
12

IWRUR JRY PIOIN
TRY 97 PO
12 RXD W

WnH TPRY 19V 93
PPwn

iii) Note that

(1) Unlike "x amm %p of mooin that applies only to P22 nann ppwn and is
based on the X720 that 1m0 127 X277 RI°W 197 R

(2) "nmm 9p of Mxnn Sva

(@) applies to the basic 17 that 1pwn *Rnvn P22 in order that x»w> be 710m
to teach that >3 “xnvn 1790

(b) and isn’t based on the X120 that 17 27 1M KT RPW 17 1R
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c) yenof Kna va

i) If you follow this 727 you’d also say based on 'y amym 9p that it can’t be that
the xnv> in the o0 teaches that Ppwin are P20 Xnwn

ii) So the xnv> in the xo°0 would be left without any 7% to teach {an obvious
Xwp by &"wann follows below}

"

RAUAW 7 7 | 'R
1°Pwn

5% Y9I KauA PR | 2
12 REPD S0 PRY

ARIALR JINY PRwn | 2
TRW 707 PRwn
12 RXD W

SRRV PR PW D | 7
7991R

iii) Note that

(1) Unlike "2 2mym %p of mooin that applies only to Ppwn nann P and is
based on the X720 that 1m0 1272 X277 RIW 197 R

(2) " mm Hp of Mkna Hya

(@) applies to the basic 17 that 1°921% *Xnwn spwn in order that x»w> be 7191
to teach that >3 “xnvn Ppwn

(b) and isn’t based on the X120 that 131 277 1M KT RPW 17 10K
13) R"wnn
a) X°wp to the y1°n of Mxni Hva

i) Just as the mxni7 2 accepts that the xnw» in the xw> can accomplish that
93 RnLA PLIN

il) the =i Sva should also accept that the &nw in the x95°0 can accomplish that
93 RnLA PPYH

b) 10 to xwp of xng Hya

i) 'R M op and 28 9mm p are both based on wan van 1N KT RTW PTIOR
and as a result are 2°»x relative to "7 mm 5 and ' Im 5P

i) Now
(1) We can’t rely on ' mm 2p and "1 mm 2p to teach that “xnun 108 190
PPwn and that 122X *XnwD 1K PPN

(2) Because based on the v w of mxnn 22 this would force us to derive from
the xnw> of the xwn that *%5 *xiavn 199218 and from the xnw> of the xo°0 that
D2 RNV PPYN

(3) And this would conflict with '& 71m 9p and 2x 2 m 2p that are o°9x
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n' T
il winTURan 1Yim xR atn

Do "D PPN RALR PR DA R2T PN T N2 1""0R IRDY 7'a [2 Ty 1 nT]
N7 R 77923 2900772 KPR INRP 120 IRD PRRwKn RRUY 199DR TR nann Xan 9oINT
NPV DDINR RV MINRW 92IN 772Y 9977 1" 7apumd oxnT 7'M v"whnd w''nas
RPUYD 7213 PR PRAUIM 1R DOIND PRAVIMRY PR w''D Prwn Xaud pawn
TR RV D9 IR D2IN 7AY DV MWD 1R TawKa® dxnT 2R 29N BN

12D W PR IRRVI W'D RY 1RpRTD PRIYT PRen

BOIN RAVAW 95 NATA PRAT PRWRT VPR 110 000 RPUR BN PR O"YT R 7''Ra
B2IR IPR7 1''P 7R KON DV MWD WRT 1""pR 11997 B'op 10 99D KU PR
"DINT W'D 10 99D RMAWX IR DN RAWAW 91 17171 9D RMAWR PO nann X2 199DN
"DIN7 12N5w V'R ORT DA 'R ONT Ay KD RTIMDN RIIT POD0R 7T PRT KON 3Rp
N 1D 29D RMAWA IR DOIN RBURW IPRR 1Y MRPT 9 TO2Y XTIYNT ORT
DA R 199DR POIN DOUDT 1''0R 990 RAUX IR DN RRAWAT 995 NARR PRI PR

21171 990 RPWY RPW T IR RIT RAY 7923 2900772 DN KRRV WIKRY PR

n T " bl "7 ' 'R
WRY 79X ARY 921X NwRA °93 RITOOWR | DNamna ppwn | namm PRwn NnuAw 793
Xnw» oy DI RPALI | 93X RpwAw YW niann ! SRNLAY D TRYn
DO
YR R0 PIWn RALI | 2D RAUA PR | PPWR RHLA | ORNLAIIRALI | 09 RALA R | 9D RALD PR
TRYR RNUL PRPWR RNV mRRY? | XA 20272 | m Dp mon
R0 2°N37H Riajlinlqlnk N0 22N N7 9ax 'R
NI X N1 | o°90 pRnun
'R 1"p mon
bR PRwn 2 Do D PR | PNAT PRRR WOBR DO | namm PRrwn
PRy PRRVIRY B nann v nnnn nnma Raa b
Rnud PR nama Pa WRY P
WINY P ) N valela)
L2IN RBUR XY 22007
X117
7R TTIPR | JORW PTIOR | Xnvaw W' TTIPR | WKW PTIOR | JPRW PTIOR
Rivalapialivg RNV 990 RALA | NINDL? DN WPV 93 Rnwn R valela)
PIwn | MRno? yawn %2 BN Bar XM TRNVIT AT
o) Rtalb) 7 ROV 897 17 TRV
AR L1 %> PRRYR RNY® 22NN
17 RO

1) First nnipn

a) 77 'R XN

i) Rnw 0 POV R MWK DR WK 99N 91
b) X2°py " is w7 this &nw> with *1°¢ nno to derive that *22 N *1w 92K IS 2INK Knvn

2) Second nTpi
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a) YTOw nann RaT 9IRS Xnw and is Xnun based on MR &R N L. 39T OY 00 0 0"
"0o% RIT RN

3) Third mnpn
a) The xa relies on 'R 9mm 5 to teach that *25 niann Ppwn aren’t *22 Xnun
b) This 1% was explained in the prior 112>7
4) xma
a) The X7 relies on '7 1m 9p to teach that
i) Since >3 nnmn Ppwn that weren’t W1 by yow and were wnwi only by a 95

(1) become xnw and are xnwn based on "Xnaw" but aren’t *22 Xnwn based on p
ki falahish

i) It’s a 1ow 9> that
(1) yw nnnn ppwn — that were xnwa directly by a yaw — are &nwv and are xnon
(2) But based on 7 aren’t %5 Xnvn
5) mooin at WY oxn "7
a) Nwp

i) derive that yaw nnnn 9218 becomes Xnv and is Xnvn even o°22 from 71 vm Hp
that’s based on W nnnn Ram 928 that’s Xnv and is Xnvn based on X7 xnw

i) and
(1) since "1 M %R doesn’t rely on %5 nann PPwn
(2) The amym 5p isn’t subject to 17 so that yaw nnmn 98 is *92 &nwun as well
6) X"wam at wn "7

a) moon could also have asked why the X3 doesn’t apply 't v %p and 'n mm op
that also aren’t subject to 17 for the same reason and with the same result that
TIW Dann PRwn IS 090 Rnon

7) Twnn of maoin
a) y™n

i) The &1 doesn’t rely on "7 mm 2p because 'x v m % proves that 9o — even
YW namn K22 — isn’t °93 Rwn

8) X"womn at 1 wn 7"R3
a) Xwp
i) Why doesn’t mooin instead use " 1mm 9p for the same proof

i) " mym % would have the advantage over 's 2m 5p that Y m p doesn’t
need to be based on another 1M %p

b) y»n
i) The xmx never refers to 1 mm 5p
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ii) but
(1) the xna does refer to 's Im 9p later in the ®°x10 on :° 77 when the X7

says: K7W T IR DN KNLA IPRW DI 09D R IR DR RAVAW TpWH T
" XY

(2) now

(a) although the x7na there doesn’t say outright that it refers to nnmn npwn
)

(b) still it’s clear that the X3 means 2> nnnn apwn because the X>ao at
that point deals with how to apply "&»w*" in the o109 that deals with
170 and Ppwn that are >3 nann
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T A"

RDWST IMINODT 21 2oy 15 IR KAV PRY 29921 TR 711 "5 NaP 17 '
NPV PRYW RIN PAR PWRD N2 PR PRAWY 29957 RIT NOANR 197 72009 RO
PPRRAT RIDT NIONR 17 299 RN DR 77''ORT MMARPY 1T DY 100 RN 9D
BS27 23R RYT QTR 2797272 K27 "DINT OVPITY W P77 KD IND PREAVIRY

2'"71 29907 P YR TUaY KD NO0T

'a

'R

07 92 PIRM RNV IR 77D

PRWR W22) 295 NN PRwn
(Ywa Rnuaw +H22 IR0

mwyh Pawn Rabmn 228

XD DR 1w nea wnnl

NWRI 93 PRAVA
0717 990 IR PRAVIAY TPWH 7AW N TRAT PRwn
W MWYH

WD PRAVAY 17X
NYRY MWy

WX NP7 IRV 7T IR
92 ORnA XY 1T NRnn DA

1) mnpn

a) "x7n°nn" of a typical °mm %p means part 2 of the 7 m 9p that sets out the 177 of
the 75n that is to be applied to the 5

b) x17 710 of a typical "M 5 means part 3 of the mm 5p that sets out the 7%

c) It’s a muws that 7 applies to limit the 7% of a amm 9p to the 1>7 of the %
that’s set out in part 2 that’s X3>7 nonn

d) moown will deal with whether 17 applies to the 1>7 of the 2% that’s set out in part 3
that’s X2>7 710

2) moon as explained by x"wann
a) Nwp

i) In'R9mm %> why doesn’t the X3 say 1°7 to establish that yaw nnmn ppwn are
only axmvb “aw the same as WX *22 nann Ppwn are only axmv? “w

b) Possible y17°n

i) "2 M Hp teaches that yaw niann pwn are aRmIv, PR

ii) 7 doesn’t apply because the 7 of Iz, *1w is set out in X7 70 in part 3
c) Possible y17°n dismissed

i) Based on a xx in 93177 7%°0 the 17 of 17 does apply to the 17 of the 727 that’s
set out in X7 Mo in part 3
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22IN XnONT AYN 2" TA PDYNRAL XYNT XL AT M

"1 99D nARR RAT DN AT RAORY N0 2K ROR "D RROIT RRwS 7'72 Y"wea
RTP2 2°0 RI772 PO nann [Ra7] P2IRT 207 272 ISR WD 2Mph IR
TPWNRT VAW 2RIV TRIY PRT LYAD RIT KAV 2NDTAT 2R RHAVD WDR

'Ry 12 9" D) 1A KD BNy Boph v wnDD) Raun
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Nn'n D1 a"T nivoin

12 990 KRV PR DOIN RRWRAR Y92 771 "1 PRT O9Md 2 "o PR o 7' Ta 'oIn
TIPWR RNAUNRR YD 772Y 9D RRUR PR IPRRT YD o1 nbomb 2" 1" R By
2R 2997 1'PT ROR WD RPWY KPR TR PR RRUR PRR IPWH WD RRUR PN
DY RITO1 77207 ROIT7 102 TR 1A% AT RO PPT IR WM K2 R DY 0

22T TTPRAR NIROITRA ORI Yoon DOIN NP

1y '1 13 'N

RLAY 70 | 201 XnLAW 93 93 nnme PPYn Xnunw "9 "X
R DR PRV TRYR

DD RN IR 953 RALA IR | 197 293 RHVR PR B3 KN PR "2

'R M Hp

WRY PRRn o NARM B9IR XU IRY 92IN nRnn PPen ‘A
TPWH RNOA 59 [97 XA NI 2°N27 99X 137 XKW "9
X177 R0 2207 X1 2

PRVAY 1T IR DIRW 77 1N WRY PT IR TR 17 IR 7
5773 XALN 1R w’;: Al AR Rl alafa) 037 79 WAV
SRRUDY PRO0IT
RN 2037

1) mnpn

a) 1pwn aren’t °22 Xnun based on 'R M op

b) The x7nx deals with whether it’s because of 'a m %p that 92 isn’t °%5 Xnwn
2) mooin

a) Nwp

i) Why didn’t the X3 rely on Y amm %p instead of '2 2m %p to derive that 2o
isn’t °22 Xnwn

3) X"wann
a) Nwp

i) " mim Hp proves that ppwn aren’t °75 Xnwun with the same 7277 that 'Y amm 5p
proves that 523X isn’t *25 Rnvn

i) Why doesn’t m»noin also ask that the & nx could have derived that ppwn isn’t
"3 Xnvn from > m Hp instead of from 'k amm op

4) yrrn
a) 'X mm 9p is stronger than " vim op

i) because the x5 of the 7% in part 3 of 'k m %p is more effective since the
77 comes about 117 of the 7a%n that has the same X9

ii) while the x?p of the 7% in in > 2= m 5p is based on an outside 17
b) " amm 9p is stronger that 'a amm p
i) First
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(1) the x7p of the 7 in part 3 of " amym 5 is more effective since the ?
comes about 1on of the 7157 that has the same &9

(2) while the x71p of the 7% in in '2 7 m 9p is based on an outside 7
i) second

(1) " mm 2p on 7R is based entirely on P22 while '2 2mm 5p is based on
TPwn
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5% B'"op "D MR 1A 0 KPR P'TITR AHET 13200 71N osw wvhw 17''Ta
STRMY RAPT DA 27 YRR ORI RPT RN "7 RDY 1102 PIos A 1 »''D Ry
A3 319977 197 R2OI KDY 2102 A WP IWT RIT P77 007 1R ORT2 1''77 IND 3O

9''PY PRI DN ROT TN T2 12TAR 702 B0 1w V'R Ten 2'RT awn

waT P M ' 5oy "o RYT WIHRWD 2900 0IRT N2 0 Y 7'
727 1" OO OR IDR 19T R TP DIOD MWYAMT 2D 0MNANn 1R TayInb
21177 2WH 2O WD 27 IR 2INDD NVINTAT P2 OPMAH RN 1IRN

2577 0% ROy 12 v'Mun ' wTRh whw whTad R "D whw uTtad 1''7a
B'RY 29MIDD VITAR WIRA N2 WIPD WOHR a1 ' WD 2900 N0mRT
RN92 772 RDINT ROIT KON 197 9928 KD 1" 09DRT K297 192K K97 2''wn nowd
RNDAT 21 K20 PRI NRP M1 V"PRT R TR O KD 19T RR ORI 20RO
MR Y9IBR 77292 1'"Pa HBOIT JWRWR RIPT RTIN° ROR XIP 770 200 190 1P RINRT
AR I TR ITY KDY 1T RMAMT IRTI RIPT RN ROOHT ROIT DaAR TRDRD RNST
5V R 9" DpHT "R ORT2{T 7} 9a7 7300 DT ROI0T NASM 197 INRAR SNRT
190 R'"'R PRI MW TIANSNRD TVERT 7A1IN2 NI DDIDT RIPT RTIN RDVDT 23
Y2ORD D' PRIM 2MA 79ANDRY TIVINRT 792 WISR KDY DBIDT NIwa 207 ano7
T MY TART NTRT IYRWRT RPAMT IND R D TVIR KDY 720 02 wen

2" TR

1) First onTpn
a) "7 'R RPN
1) I792WN INRY KAV 1DIN2 WK 221010 PR 2R 2190 WK WA 090 9
b) 7% 'R RPN
i) Xu™
(1) xnw> o 1LY K12 WK DIRY WK DT N
il) X9
(1) xaw> *H3 902 anws WK IPwn 9
C) 'm? 'R XM
i) 03% R17 XML 1OV anhaws 1 YT DY 0 1N 00
d) "'t RN
i) 9oR° XD XMW 922 ¥ WK Wwam
2) Second mnTpi

a) The xa here refers to o>1m°% as being "m0 1" if they’re based on X1p7 o1
and aren’t based on a M %p

3) Third mn7pi
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4)

5)

6)

7)

8)

a) 209 71w isn’t O°IIR R to become bW
b) 909 wHw isn’t 0°INR Xnwn to become *¥>a
Fourth nnTpn

a) X2°py " is w7 the xnw> in the xw» of 72 Moo on P9I as if it were written with a
¥ o to teach 7nn 1 that 19518 in a PwKA *23 not only become 1w but are also
1721 Xnwn to become 9100 wrHw

b) The mo» also indirectly teaches 77077 11 that 5100 >w 5w Wiy amnn because 7m1n
is ¥y X7 than P21

Fifth nn7pn

a) °ov ' and other 13127 aren’t w7 the word xnv> with »°% ino and derive 50 1
from the xw>n only that 7100 “aw nww P21 and — based on y73 X% from 19 — that
9109 21w WY 1N

b) But
i) They do derive further that

(1) o wHw mww N by vmim Hp from o1 912w that’s 12212 nn and is
717N2 MOK S0 it’s a 19w 93 that since 17117 is 9109 3w vy it must be that
AN iS 900 WL nwy

(2) v nww wrp by the 7707 1 792 from &nw 552 ¥3° wx [2°wp] wam"
"5oK° X7 that teaches that o>w7p that counts as X»v is o°nx Xnvn to be
2109 WO

(3) w221 nww wp by m Hp from o195 oa that’s N2 i and is 0K
w72 S0 it’s a 10w 2o that since am1n is 71090 swobw vy it must be that wp
IS 200 ¥ nww

"W at N2 Y10ow whw "7
a) 1127 hold that "5109 >w>5w nww man”
X"wann at swhw "7
a) °"wnis qgpn because we’ve seen that
i) X2°py " also holds that %109 *w 5w nww 10 the same as 1121

i) And the difference between x2°py " and 3121 is that the 17 of X2°py M is
707 while 1327 rely on a vm 5p

Tqwnn of o"wA
a) Xwp

i) Why doesn’t 17 apply to the 22m p from >0 201 to limit the 7m°% from
the "M 9p to “wSw nww wIp

b) v n

i) That wow qww wip we anyway derive 7107 12 from x9p7 013 of WK qwam"
DN RD NXAL 902 vN
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i) And we don’t say 17 for a m %p if 7 would be 7191 the 2mm 9p
9) X"wnn at whw "7
a) Here too *"wA was xpn

i) "wnshould also have asked why there is no 7 for the “mm %p to 7m0 from
o1 912v that teaches that “w>5w nww nmnn

i) And>"wn should then have answered that from P21 ¥3 8% we already know
that »3w 7wy 170 and to say 17 would be 729 the amm 5p

10) X"wnn at 1 "7
a) TP

i) Mmoo holds that "w>bw aww wp can be derived also by 1°¥n ina from a01n
0°7193

b) xwp to mooIn

1) To explain why there’s no 17 why does the x7n3x need to rely on a p1o» that
would be 7191 the ~m1m p presumably by making it useless

i) When the &3 could have said that the amm %2 would be made useless by the
%1 72 that also teaches that “sw>bw vy wip

C) y™n

i) In order to avoid 7 the necessary 1771 isn’t that 1°7 would make the “mm %p
useless

il) Instead the 77p1 9Py is that the mm p would cause a oo to be an1n and
it’s because of this potential :1n° that we prefer to say there is no 17 instead of
saying that X7p 7% 2021 7L WM HP2 RONRT RN?N

d) xwp

i) There’s no special P00 that teaches that *1w 7wy =170 — we derive this 7
only by ¥1x X% from Pon

i) So how did the xna earlier avoid 17 when it relied on a 2 m 5p from o1 5120
to teach for >0y ' that 2105% *w oW AW 77N

e) yn

i) The fact that the oo of xnw is ono and isn’t directly limited to 1°211 makes
the ?105 count for purposes of 1°7 as if it dealt separately with 7170 as well as
krals!

11) mooIn at o293 oI an A"y
a) Nwp to "wn

i) There’s a 7n&7 181 who says 17 applies to a amm %p even if the 2 m 5p is
Tom by v

b) y»n
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i) The "mm 5p from 0>7195 017 to wIp is supported by a wwn 2 from o
o°7193 that also teaches that *w>ow qww wip

ii) that’s why the v m %p is o7& and 17 doesn’t apply to limit wip to “wow
12) qwnn of the X
a) Nwp

i) Why doesn’t X2°py "3 derive from the amm 5p from o195 (0w that nww wip
wnn

13) X"w1n at o195 oI A a7
a) X°wp to the xwp of the xna
i) The & nx ought to answer that 17 applies
b) v n

i) the 1 m 9p is 779 for X2°py " who from ya° qwx “wam already knows that
YO0 VW WP

c) Nwp
i) There is no 11°¥» 1na that teaches that *¥>21 nww wip

i) So the y1°n isn’t relevant for the fww that 17 applies even for a 7 m 5p that’s
7791 S0 long as the =M %p isn’t made 2°%& by 11°¥n nna
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S""ub AT R2TD MW VYR 1R NR KD AN RAWIT 23 DY AR 9o "o 2ves
TR RN D0 Uan 1" RDYDY WHR 7 7N T KDY SIRPILT AN oW
Y9 TOUER KDY RO NRP WIP2 Y0 'R TMDRT 1100 1A' wIpa whnn ey
RN92 7292 1''P2 9T VAR RIPT RIN°27 2P RPN 90927 INKRP 10w V'R N7

:2'1Y7Y TAbRR RNYDT 23 DY AR MR 11T RN

'2 'R

771702 N 0D 0 7212 M av Maw
WTP2 MOR 0 MDD 101 7727702 70K 2P aw
YI27 VW 3N WOV VW 1IN

WM WY WIRPY 17 IR Y927 WYN M0 PT IR

1) Twnn of the Xmax as explained by >"wA
a) X2py " holds that mman is a0 1 whw e

b) It follows that if x2°py "1 were to be w17 both '} 721m % and '2 w2 9p in the
table he’d hold that >¥>21 7wy 7170 based on 'R 221m %p and that “wonn v wip
based on "2 " Hp

c) And since in fact no xin holds that *¥»27 7wy 70 and “wni 7w wIp it must be
that x2°py "1 says that each = m 5p is 7191 by a 857°5 whose o°v1o aren’t relevant
here

2) X"wann
a) Nwp
i)  Why must it be that the X575 applies to '2 amm %p as well as to 'R i 5p

ii) It ought to be enough to be ')k 9mm % 7197 with the result that 7m0 isn’t
*y227 nww because then there would automatically be no '2 amm 5p since 9p
'2 M assumes that >v°27 v aman
b) y1n
i) X2py " even without 'x 9mm 5 would have derived that » >v>21 nww wip
77N based Rnv 952 v qwk wam as applied to wip that’s 9109 W Hw ¥

ii) s mm 5 would then have forced us to teach that w1p becomes a *wnn - and
not to apply »7 — because otherwise the oo of =wam would be a k2

P

111702 AN 03792 0N
W7P2 70K 0°7192 701N
MWW VIV AN

MWONN AWy WIPW 17 IR
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MynYy X1 T'NAI npwn Xnon 72181 781 o ' TN M'wn

12977 ROR 79 nrown K97 2"yT 51 10 B0 KD 71997 RITMAPINT %1 901 M9 7''Ra
B'"'op 19 772 RID WP IRV D''OY 7hap PoRR 2"y "D w2 0B A BNy "o
RDR 12 KR 72w DR O"'Y RNMMIRTA WP P27 00 ' 0w nnown 1''em
RVRIPT TIY 72 RE1D 7RI IRIW D0 KDT R0 »'"90 2 vpl XPIosT Rnhnv
"> MR a3 70 ANPT YTNY W'D 337 ROR Nown K97 NWT 07 Rn9nT
RZ1ID 2P NP PR 20 27 'wNDH pIRTS WO TR PR 2 pT B
DRPIVA 'INR2 9N 2T EINMDD PIAT TR 1 DR RIS RIY 20 Wn '
2OP1 RY ORAR 20 KD 7991 B'RP D' DWW 901 ' RAPNIRT 2R RRAVD PRRwn
RPVIW HOIND RAWVI 7T MWW JIA27 309D IWEIT 7O2MK V' 2197 nwwsa b
5113 3320772 '3 7Y BT 32 RRVD RIY IRP™IY D N7 AR pawa RpLI Shoa
0D TIMD2Y HIPH 2MNDD B RAVMIRT ' TR DT 2RIV WY NP 0T
DL 30 M7 MPIRY 19 RN AT INITY DY NITY N0 1ANNRa R e n p'T

"7 9957 9" D B'D RDT 23 BY ON 7D MRp »''T

PIT DY 29 NI 901 KRR IR IND IR WD RPDI K2R D IPRWR RRURT DOINY 7R
NPV AT PR DR [R27] POIN RPN ONORT 'R oD 11D KAV R IR M
21171 DD 9D AT PR KA RD P9PT Y90 nama Ran YOIN bar apwn

PR 92AT 2 R oY 15 RITY PP Y28 RPWYY AW 90 NIR V1T nRw IRy 7R
9237 KPR 2YIMIR RPAUD RAWY 2997 299218 923 7757 23R RPRUD R 0 ' wanT
SIR 922 HY MRPTS P9 7190 NONT 12 KX TRIY N2 PR ¥ 9o XY YOI
wOR 1 DIpR 9" ans 920 10 1Dn 1TYaR RURY 'Ry PRINA WwRR upw
Y317 JOP0Y KD M7 "1 77057 31 020w 9" R anaRp N7 1Y 20w B T 20w
A2 FTIINT T RWTRR YT N1 9B T 2OIMNR RAUD KAV A1 WONTT 119D K7 Iwa

PMTI Y

1) First nnpn
a) 77 'R RPN
1) xw™M
(1) Rnw> oon 1HY K12 WK HIRY WK DN 2on
i) X5°0
(1) Raw? °92 922 WS WK PWwn 90
2) Second mnTpi
a) N2py " derives from xnws in the X that P12 2109 Woow AW 1w PR
b) And x2°py "1 is w7 the xnY2 in the X9°0 to teach that 131277 IR KLY PPWH NRAIWY
3) Third n7pi
a) °"wnand moon both say that
i) >0 " derives from &nwe in the xwn only that 191 can become 109 "w
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4)

5)

ii) >ov " also disagrees with x2°py " and holds that 71297 2>k XPv? PRwn DRV
Fourth nn7pn based on the ®anx at ;i 77 and .v° 77
a) X2°py " derives that 70 12 >y°29 nww wp based on the oo

1) PR R [RAVLIT RIP2 RAV P AT "WOHW 11°907] KRB 932 YR WK [WIR 9] wam
[>¥°27 awya w2 a7 own]

b) >o1 "1 derives that 707 12 “wow aww wp 25 based on the same 109

1) PR RY [RAVIT RIP2 KW P07 22w 1°77] Knv 932 930 WK [wTp 92IR] wam
[w W nwyl w3 777 2Wwn]

c) -ov ' derives that *¥>27 nww wp by mm 5p
I
a) Assume first that >01° "1 holds that w7pa 9218 Riabvn DR PR
b) First xwp
i) How can w7p ever be a >y
i) The longest possible chain starts with w2 and ends in *w°%w because

(1) once >0 ' says that 13297 >R Raw? PRwn nkaw it follows that for the
chain to reach *w>5w it must begin with nwx- 9> that is 12238 Xnwn to be
1w and that is then in turn ypwn Xnon to be swsw

(2) And Ppwn can’t extend the chain further to *¥°27 because ®nu? Ppwn NRMY
D°INX 1S 13277

c) y™n

i) Must be that o " holds that *¥*21 fnww wip only 13297

ii) In fact the &7mx in 73°am noon says that wip can be *v°21 7wy only 13277
d) Second xwp

i)  We said for >0 "1 that 77077 12 w°%w 7ww wp 99K

i) How can this occur given that

(1) nwrn ppwn can make neither *1w 92X NOr *1w 1Ppwn SiNce °01° " says NRMY
11277 0°I0R RPWL PPwn — and for the same reason *1w Ppwn can make
neither *w"%w Ppwn nor “woow 17901

(2) MR 998 can’t make *1w DI AW since 9o Xnun 93R X — and for the
same reason "1 92X can’t make "w5w 93X

e) yn

i) must be that >0 " holds for wp that 221% Riavn 2238 namely X1 qww IR
7 i}

i) So that we have this chain
(1) >3 HRD MWK M9
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(2) *wHw H2IRY 21w HIR
6) %"wann and X"wonn
a) Nwp

i) Then why did >"w for the first X*wp need to answer that there can a w7p2 °*y°21
only 11217

i) When the chain can be extended xn»x7n
(1) 2w 5218 PWRY °9
(2) *wHw H2IR? 2w DR
(3) *¥721 H2RY WHW DN
7) R"wonn at *o1r 9 7"Ra
a) y™n

i) °"wn prefers the first y17°n because it’s effective also for a°xia " and 135%™
who possibly hold that w7pa 5318 Xnvn 22 PR (see 2" P at v a7 at p'o
VN)

i) Besides —we’ve seen that *"wn proves from 53 noon that wipa *y°27 is 13277
8) n7pn to the qwnn of R"wann
a) Part1—the mwn
i) X" permits a 19037 to wow wp w2 to make it axmw? W

ii) X2py " is 7o that it’s N to make a 19017 to N 1w that’s 9109 "whw to
make it R, W

iii) 2°x» " says that 72170 that’s 313297 70K can be made aRmL? 1w
iv) °01 " disagrees with 7°xn "

b) Part 2 — mvw of "7 "1 on the np1onn of Px» " and ov '
i) In the case of x11n7 ' the "w>Hw w2 was Rnvi by 1w ppwn

(1) ~&n " says that 131277 oK Xnu% PPwn Nk So that the case of x1an '
proves that 13277 *w5w can be made a 13277 *3w and this in turn proves that
an 131277 MoK can be made a 1w

(2) *or " says that Xn»7IR7 0°I0R KAWL PPWH XMW SO that the case of X1 ™
proves only that xn>>7x7 *w°5w can be made a *1w and this doesn’t prove
that an 13297 70°Xk can be made a 1w

c) Part3
i) °"wn
(1) xwp
(@) How can you say for >0y "1 that Xn>7I87 220K RPv? PRwn DRV
(b) When we just established that >0 " holds 72277 o> nK ®nv? 1Ppwn NV
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(2) yrn

(a) *or "y means to say that 2°&» "1 can’t derive his 17 from X117 '3 because
X111 "1 can agree with X2°py " who holds that 2°anx Riav? Ppwn nknw
XN»IIRT

(b) It’s not relevant that *o1° '3 himself disagrees with x2°py "
9) Twnn of X"wan
a) Nwp

i) Now that we’ve established that >01° 1 holds that w7pa 518 Riavn 928 and it’s
possible that 2°&n '3 says w7pa 721X R 22N PR

ii) Instead of the pm7 of >"wA that "o ' relies on a nv>w that he himself doesn’t
hold

iii) Why not say that
(1) »or " in fact agrees with 7°xn " that 131277 220K KAV PRPWH NRAIY

(2) the mawn doesn’t deal with pwn altogether and instead deals with ~wa that
became a *w>5w by way of 751 that became a *1w by a *%> that was a Pwxn

iv) now
(1) for =°xn "y who says that w7p2a 9% Rnavn 991X X the w1 is 13277 W Hw
(2) for o1 "1 who says that w7pa 221k &nvn 92X the w2 is XN IRT WHw
b) v n
i) Since the mawn says that X2°py " was 7701 on X117

ii) >0 " prefers to explain that the nv>w of X117 '3 is consistent with the v w of
X2°py ' that Xn* X7 02K RPL? PPWR DRV

10) mvew of *nynw *1X1 as brought by *"w here and also on .r° 77
a) The nvw holds that
i) R2°py " says that wipa 7218 Xnwun DN
i) *or"

(1) agrees with x2°py "1 that P21m2 D109 *wHw nww HoR and that Ppwn nRmw
RNPIIRT 2R Rw?

(2) disagrees with x2°py " only in that >0 "1 holds that w7pa 7918 Riabn 228 PR
b) the 7w w has the following advantages

i) it avoids the pm7 that >0 ' says Xn*7IXT 22K ®Rw? PRpwn nkmw only for
X2°py and not for "0y "1 himself

il) and it’s no longer a X*wp how *01 '3 can hold that Xn>> 877 *¥°27 sww wip and
that w7p 70 can be “w>bw nww

c) but this nvw can’t be used because of nywip that >"wn sets out on > 77 at 72°% 7"7
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11) X"wann at *nynw "R 782
a) Here’s an additional ®>wp to the mvw of *nynw "X
i) If >0y "7 holds that 7707 12 "W P 721 1910

i) Then from ¥» qwx “wam he ought to agree with x2°py ' that we know 77017 11
that >v>21 nww wip

iii) Yet we’ve seen that >01° "1 says only "0 12 w7pa swvw 17N
N1 A" TN

B oy 12 IRMAR P10 770 20 O MR O T 7' 1D dpaan v ant i1''7a 'on
BIODW MWD 9157 TRIIN2 DIDDR WDW ARD RAR Y0 770 20 R DR M
''mY PPIma
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v'nnY™? X7 0" TN

2795 K97 ORTY 17 M D D 0w 1D 137 1 RAIRT 21 71T "0 wannwh XY 7'
1APD 12answ 'BINT 9D 5 AWNDD 11297 MR MART 0D 1A "IN KPR 'InnN
297 7T YRR B 0N 11D NRUM IBR DY RWN NINPT KRR 1207 JINIRT PITT

1)

2)

3)

4)

5)

6)

7)

9''PY RWITT RIAIT RDIOT 709 YRAWHA KDY 171 TR 290 127 7 B'S Nwn md
First 7a7pn

a) NXnoy 210 agree that nxvn 19K is AxAW Hapn only 11377

Second 7P

a) °"wn says that o>on 7125 are also nxmw %apn only 13217

b) nwoIn says that 2°%ma1 71122 are RN™IRT IR0 72P1

moynT mwn

a) WIPR? 1N A %D V97

b) meaning that pieces of w7p in a 2> are xnwn each other by m1x even if they don’t
touch each other

nYIYT mawn
a) xw according to the xo7x of moIn

1) there is mx for nxvn 79K
b) xo°0

i) X2py " is ppow that there is also 7% for o¥%mam 2% nMVPM NN
X7ma here
a) 7Im ' says the mbynT mawn is based on the what x2°py '3 says in n1*7v7 mawn
Twnn of the Xna
a) RNPNRT NVE MKRT PIAT T 2099 112977 71X 1M1 ' 720p RROR
e
a) noRw

i) How does the & nx prove that 111> "1 holds that 717X is 73277
b) nawn

i) We’ve established for *"w that o>%nx 71125 are axmw apn only 13277

ii) Now

(1) since a1 ' says the mawn in M5y that sets out the m17°% 17 is based on "
X2°py in N7y on the M of o°%ma nnad

(2) and since the axmw of 2°%ma 7127 is only 13277 even where pieces of 712%
o°on3 are vai one another and there is no need for a17°x
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(3) It’s yawn that the mawn in N7y deals only with 11277 o°1°7 and that the 177
of My itself is only 13277

8) nmooin at var "7
a) In fact pieces of o>onx n112% are Xn>IRT ARMAIW 22pn if they’re YA one another

b) Yet the x7n3 still assumes that if they’re not ¥211 each other and become x»v only
by m1°x their nxmw is 13277

1) Because in the xwn the axmw of kv 7oK is only 11277 even if pieces are yan
each other and there’s no reliance on M°Y

i) And
(1) since the mwn in N7y says X2°py " is 7°0m to the Rin of the xw™

(2) It’s ymwn that the 85°0 also doesn’t deal with X097 78”0 in a case where
m17%% is needed because pieces aren’t ¥ one another

9) moon at LN H kY "7
a) "I "M% XNPIRT R "
10) &"wonn
a) It’s a muws that pan ' doesn’t disagree with the mawn in ny7y
b) Instead
i) This is what 1°117 21 says as understood by >"wn
(1) The fact that x2°py "1 deals with o911 72125 that are axnIw S2pn only 11277

(2) Doesn’t prove that m17°% results in 7xmw that’s only 11217 even for items
are XN*™IINT IR 22PN

i) This is what 1°11 21 says as understood by mooin
(1) There’s no reason to compare the X1 and the x50
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N1"2197 72X 1"N2 nivoIn

5oy "D R''TT 2MTPY RAT ONK RADIT 230057 927 K9 RIPR MART K192 DA 7''N2
RIT TOOUERY A YA WK WA 2IN0TH MR RAVA YOIN 2R RNADIT '
%''ab BBy 2AR RAUR DOIN PRT RN NOR PRI DaR 12 RID TRIY PRT VYR

1)

2)

3)

4)

5)

6)

12971 9N 98D RI921D DR N20T
First nn7pn — X at .1 A7
a) 7278 72 R7X 27 and *°ax say that w7pa 12 RXD Kb DR
b) X127 says that w7pa 12 XX XnLH 791K PR
Second 7P
a) 77 'R RPN
1) xw™M
(1) Xnw> oo PHY K122 WK 7R IWR 22N 900
i) x5°0
(1) Rnw2 292 22 WS WK APWwn 90
Third nnTpi
a) X2°py " derives from xnv> in the Xw that 1912 7100 "WHw AWy 1w PN
Fourth nnTpn
a) 98’ K7 Rnv 902 v wR [wp] wam”
*"w9 as understood by m»oin
a) ToRw

1) There are X7 18 who disagree with 82°py ' and don’t derive from Xnw> that
WIOW MWYY DOINR KPR MW IR

i) How do these > nx7 187 know even that »1w mwy? 2onk Xnvn PRI 7918
b) nawn
i) From "X Xnv ... vr 5y oo 10 00" we’re 271 that "Rinv 12 RE1D PRI &R X1

i) If P9 weren’t 00X Riavn no vy n would be needed to teach that 12 ¥ PR
N

mooin as explained by X"wamn
a) Nwp
i) for x1°27 who says °w7pa 9918 Xnun 21K PR

(1) say that P2 9218 aren’t 2R &nwn so of course no vy is needed to
teach that &nv 12 X¥1D PR

(2) Instead xnv 12 ®x1> 1R applies only to wip that is o R Rnvn based on
RNY 952 ¥3° MWK WA
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UTNd 0'T NNNIV 'RY " TN

2OTOR RRNOM 32 15 173 1D ANOR 1MAWD RANDR KPR 1D 2970 IRMIV PRY 7''72
WA N2 90 PRI 2OPMIT 2970 YA KD RN20127 ' B0 "1 PR Mpaun
STOATT RO OUTY TN STOTAI KD PITY 12 2OUMIT DAk NMIPOY 2970 andn bna

'Ry 2WTPR RPIT RUTT 10 7N DR DI BT

1) First nnTpn

a) The 7712 of o>7° ano is that o> after Ny no°n count as n1w that are 7N 2019
because o>7> are nyipoy

2) Second nTpn

a) As part of the 227 'n> the 7327 were on the same day 2 the 77°1x of o>7° and the
77°ma that Ppwn are 2°93 Xnun

3) Third 7P

a) In mean noon the &3 mentions a second 771 for o°7° that 7107 NR 0197 53 —
meaning even a *1w— is 271> Xnvn to become o»w

b) This a1 applies only to w7p and doesn’t depend on ny7:i1 1o
4) mwn
@) RnL W2 MMV D7 PI0 WIP WA NRYNIY D
b) wpna 07 NRMIV PRW 1037 XPY " IR
5) mooin
a) Nwp
i) Presumably when x2°py " says "o>7" he means the 'k 713 of o7 ano
ii) But that 771 applies only with ny7n nosn
b) Possible y17°n
i) By "o" &2°py " refers to the 701 in 733 that doesn’t depend on Ny o
c) Possible y17°n dismissed
i) We’ve established that the 7701 in 73 deals only with w7p

i) And it’s not 7anon that this 77°12 was made on the same day as the 71 of
0°%0 nRMIW that isn’t limited to w7p

d) ynas explained by X"wann
i) Based on y1a X from the first 7901 there was also the third 5901 that

(1) o7 that touch a = such as the vrn in our case become a 1w even
where there was no ny7i1 1o

(2) And we can accept that this 7912 was made as part of the 7701 of 2>7° ano
on the same day as the 77°1x of 2°%5 nxmw
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10" 7
""MTY 'XN VNN 'XD XINA

PIPTY WY N0 NI VT PO RPN SINTIAY NP UMR NI RN [2 Ty v nT]
PEOX P''PY RNWIT WA 70 PO RBU LA 10 ITARY A0 MWW RRpP1T
9277 IR A1 70 TP KDY ST 57752 RAPIRY 700 TIIUER XY 2v90Raaw 2%
TR NV BR2 IRT 2% W U0 RAT T 29772 N RPY VR MIRT RNAPIND
RO UM PDD2 DaR Y90 NRALR 99D PR RIT Y PoOIT RVOIWD ORI X7
N7 JOURRRY 9D DR RAVAY JIRAWT AR VAT N7 DR RPY WAR A1 pPIs0Y
5" ARY RAW PR MW 2RO 210 1D N7 21 N NRMIY PETD 2IRIMAIT 29902 WIS
WA KD W'IAT T IRI0N 77D RMAPINT INMAD DN RUT PO ARMIY RPN KA

"7 'Y INRT DY 200 70 217 N DRI Poo

1) First nnTpn
a) WIpna 0°%d POD Y 1M K?
2) Second TP
a) IRMIL? PR isn’t D°721 DTR KNV
3) mwn
a) RNL WA NNY 227 PI0 WP WA DRYNIY VN
b) wIpna 0°7° NRAIL PRY IOT RPY M IR
4) XM
a) Nwp
i) Presumably the miwn deals with where there’s a poo if the vrn is Xnv
i) Why is the poo relevant given that wipna 0220 Poo ¥ 1713 X
b) First y1°n
i) The mwn deals with a vrn that we know to be an nxmvn ax

i) The x7nx will later ask that if so even the 175 himself should be &»v and why
aren’t the 100 and o°7° also xnv

c) Second y1n
i) The x7nx deals with a sion 799 that came from outside o2%w»

ii) And since there is a 71 of 0°%5 poo outside of o°%w1> we’re poon whether
the vrn was Rnv1 by a yaw to become a Pwxa

iii) The wwn doesn’t apply to the 372 or to 150 or to a°7° that can’t become a WX
5) R"wann
a) Nwp
i) Why doesn’t the & na set out this y1°n
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b)

(1) The mawn deals with a vrn that’s *R71 a IRMIV? PR and was v X7 the
100 and the 3

(2) It follows that the nwx" vnn is w2 &nvn to be a 3w but isn’t 2°921 QTR KnwvH
to be a "w

(3) Note that since the vnn was &nv °X7) there’s no need to rely on ;721017 719
from o°5w17 vIn to explain why we’re wwin for the oo5wi7oa axnw

77N

i) This y1°n offers no xm2n at all

Xowp

i) Why is the second y11°n of the x7n) a greater xmian
77N

i) The xman of the second y1°n is that we’re not poion that the vna had become
xnv by a nn nxmw in which case the 17 for nann that 5%n3 &7 °953 290 would
make the vrn an R AR

Xowp
i) Why in fact don’t we have this P50
77N
i) The case is similar to a Xp>50 po0
(1) First poo
(a) Was the xnwi v
(2) Second poo
(a) If it was &nv1was it xnv1 by an aRn=wI 28
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NN A"

"D 295 RRAWDR 397 1970 R2PY 9T 90 RO PR 1 10 ARMMW PR X277 "o
RPUD PR IRAM R2IPY 929 0207 3717 2 MW 10 IR PR 7RD RIpTY KD 5oy
RPIRY D005 JIMRRPTS RNVMINT WK 2990 RAUD RIT 77 2R RAPIRT 29NN
[R2997] J29m7K 9721 1P RDIR ¥''9 NWOa RO30 XU 10 K172 INDY 2990 Raud
DRPIV 29T 91 PRT 2T WD W RAVNINTA VD PRAVA PRRWH MNRT RID

1)

2)

3)

4)

5)

6)

7)

8)

9)

217 397 PR WIPRa PN 97 XY 7 2%
First 7a7pn
a) 1127 as part of the 127 'm> m7°12 were a1 that 1pwn are 0095 SRnvn
Second 7P

a) X2°py " holds that Xn>>7I87 22K XNWL PRwn NRMY but agrees that 5y 0095 nkmw
PPwn 7 is only 11277

Third nnTpi

a) RN™MIRT A8 applies also wpna

Fourth nnTpn

a) The X3 says at .1u 77 that 77°9% woR vy 12 A1 7w that 107 X°navn 02 Ppwn
mawn

a) NP0 W ML 2277 PI0 WIP WA DRINIY LN

b) wIpna 07 NRML PRY WIT RBPY " MR

Rapfab}

a) Nwp

i) Why didn’t X2°py "3 also derive from the 1>7 of vrn that the 77°13 of 2295 nkmw
doesn’t apply w7pn2

moon
a) "o xowp

i) The x7nx should have answered that &2°py "1 didn’t need to derive this 17 from
the case of vrn since there is already the general 17 that &°ravn n°a ppwn are
197

b) y1nas explained by R"wann

i) The fact itself that X2°py ' says Xn*TIRT 220K RPYH PRWH DRIV Proves —
based on the nw7pn — that for x2°py ' the [3pn of 157 applies only to nkmw
TPRwn > By o°ha that is only a 131297 axmw

Twnn of MmooIn according to the xo9a of X"wAin
a) "9 Rnuhn 197 1 ¥DT [Moonn Sya] 0% AR KR [ 0727] an”
R"wAnn
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a) presumably m»oin means that it’s not 7anon that X2°py ' holds that Ppwi nknw
XNP>TINT 220K ®nw? and yet Xn» R the 1pwn aren’t 0095 Xnwn

b) xwp
i) atm A7it’s clear that X2°py "1 does say that Xn»K7a 0¥937 *Knwn XD Ppwn

ii) and the &3 also says that there’s no Xin who holds that ppwn are %5 xnwvn
RNPMIRT

C) y™n
i) must be that this is what n»o1n means

il) It seems unlikely that 13127 would make a 73pn of 157 for the limited purpose of
saying that the 77°13 of 2°95 nXmw doesn’t apply wipna
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NN AT A" T IR wiTvRar nrman N2 nivoin

P30 RIPD B Doy "D WIPD WA 7RSWT "1 NI 920 wIPY 29707 A 7R
9P WIPRR 2970 INMIY PRY 10T RPN WIPRa DAk wenh PIn 2mbw awa

2T PIOTTR 1D JURWRD "2 299557 DY NP2 927 177192 19737 RNIR ART 9" 7''Ra
52 921N RO 51T 927 111 NI 2T V' RWORT WP RWPT DYDY Doy "o aTp
YANDW ST IO M2 11192 WTRR 2Y9D NRMIY DY 1773 RDT RIT RURWIPT NRINT RO

9'"PY 2995 NIRPIV VP RDT RIT VS T A" DA 2TIPT Y R RTINS

1AW 7172 95% 23 B''oY "D A bR WIPD 27T RON 1973 212 12 11NN 7''a
A2 WTPR 2% DY SIRMIY 927 [1'792] 113 KPT 2"YY M AY NN nR p AT b
NRDI7 5792 19IPT WIPDT RN RITT 173 2152 12 FIONN MRP ORM 1R Boyb nansw
B10D PPIYD 2977 1972 POV IRY ORP 127 1'OR RANDR P''IT IZNY 7R Rbw N2
WIPR2 2990 NRMIV DY 17TA KD IR A1 19T a1 BRI wrpnaa IR 1A KDY YN

22" 13D 27 111192 17T RNOR ART BOYD WD 1D

1) First nnipn

a) 7717 anPw was na on o7 nkmw for wp but not wpna
2) Second nnTpi

a) 127 'm mainclude

i) a7 on o7 nrmw for mann — beyond the wp to which the 7701 of %W was
limited

ii) and a 771 for Ppwn > By 0095 NRAW
3) Third 7P
a) mwn
i) Rnb W2 ML O°7N 120 WP WA RENIW VAN
i) WIpna 2°7° NRMIY PRY 1T RPY ' IR
4) xma
a) Nwp
i) Why didn’t X2°py " also say that w7pna 0°%5 nRAw PRW 12997
5) mooin as explained by x"wann
a) First xwp
i) maybe x2°py " lived before 127 '

(1) He said o1 that the 77°13 of 5w on o7 nkmw applies only to wip but not
7a (rlak]

(2) He said nothing about o°%5 nxiw because when he lived there was no 91
on o°%5 nxmw at all even wipn? vIn
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(3) And x2°py "y was no longer alive when as part of 227 'n° the 13127 were ama
0°%> NRMIY even wIpna

b) vy n to the first xwp
i) We know that x2°py " lived after 127 '
c) Second xwp
i) maybe
(1) the nawn of v happened before 227 ™

(2) x2°py "1 said 11°o1 that 127 ' extended the 7913 of nnow to apply also to
7170 but didn’t extend the 7713 of %W to apply also wipna

(3) ®2°py "1 didn’t say 101 on 275 Nk because after the mawn of vnn the
m1a of 727 'm0 included a 77°13 on 2995 N even wIpn2

d) yyento the second xowp

1) If so there’d be a later mawn that would caution that if the case of vr» would
happen now the 7o of 2°25 nkmw would result in the 1°20 being xnv

ii) So
(1) it must be that the 713 of 2°%3 nkmw in 927 '1° doesn’t apply to wpn

(2) and this is why the & nx asks why &2°py "1 didn’t say 0°%5 nRAIW PRW 12907
wIpna

6) X"wan at v v 207 Y¥nKRa
a) Nwp
1) Refer back to the first &wp of m»on
(1) maybe x2°py " lived before 127 'm»

(@) He said o1 that the 7713 of n%w on o>7° Nk doesn’t apply to the
V7 frta

(b) He said nothing about o°%5 nx because when he lived there was no
77°13 0on @92 nxmw at all even wpnt v

(c) And he was no longer alive when as part of 127 > the 13127 were a3
2°92 XMV even wipna

i) Why didn’t m»oin answer that “if so there would be a later 7awn that would
caution that if the case of vrn would happen now the 713 of 2°%5 nxmw would
result in the 1°50 being &nv”

b) y»n
i) we could avoid this yy7°n by modifying the first x>wp to read this way:
(1) maybe x2°py " lived before 727 'm»

(@) He said o1 that the 7713 of n%w on o>71° Nk doesn’t apply to the
7 frra
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(b) He said nothing about o°%> nxmw because when he lived there was no
77°13 on @72 nRmw at all even wpnt vIn

(c) And when he was no longer alive the 1127 of 927 'm> were nxmw M
0°%5 only y 2 and that’s why there is no corrective 7awn

7) Twnn of the X3 as explained by >"wA
a) 10 on why X2°py ' didn’t say that wpna 0¥92 NRAW PRY 12907
i) Mwiohs Mmoo o7

il) the nwyn of vrn occurred before 127 'm> when there was no 771 on 2°%2 DR
at all even wipn? yin

iii) it follows that

(1) although mooin proved that afterwards at the time of 127 > when the 3129
were Y2 0°%3 N M they weren’t w7pna 0°93 NRMIV N2

(2) still

(@) ®x2°py "1 couldn’t say that 151 from the maw that at the time of the
mawn there was no wpna 701 of 0095 nkmw

(b) Since then there was no 1701 of 2°%5 N anywhere
b) xwp
1) 9913 AR 212 3N KM
8) moown at ¥n a"y
a) mooin will explain this x°wp of the xnx below
b) But first mooin asks this preliminary xwp to the xwp of the X max
i) How could the X3 ask 1713 71K 01°2 %170 R’ when we’ve established that
(1) q97nn mnow was already o>7° nxmw A in his times
(2) The 791 of o°%0 nriaw was 211 only later as part of 127 '
9) X"wamnat mnat

a) mooin apparently asks by this preliminary xwp that the 77°13 of w7pRa 0095 Nk
was a1 later as part of 727 '

10) qwnn of X"wnan
a) xwp to the xwp of mooIn

1) We’ve just proved in answer to 'a X*wp that it must be that in 127 ' the 77°m
of ppwn >1° Yy 0°%5 N applied only ywna and not wipna

b) y»n

i) Mmoo deals only with w7p — not wpna — and means to be 7791 the xwp of the
X3 that "1 7nR 12 17170 XM by asking that

(1) The 7713 of w7pa 2> NRMLY was a1 by mnow
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(2) While the i1 of wpa 0095 nkmw was ma only as part of 127 '
11) qwnn of X"wAan

a) e of the y1vn of mooin that explains what the X913 means to ask by xm"
"I AR Q12 3N

1) it’s 72anon that x2°py " would say 1001 for a 177 that applied in vrnT mawn only
if the 17 continued in effect after 127 'm> n1°m

i) It follows that since "1 7nx 012" and 7121 dealt with 2>7° nkmw and nRw
o°3 on the Tnx ov

(1) Just as x2°py " in effect says that 11°>1 that 27> nkm1wv didn’t apply wipn2 in
the time of vnnT mawn and that this 7 was continued on the x o

(2) He should also have said that 11°57 that 2°%5 nk»w didn’t apply w7pn2a in the
time of vrn7 mwn and that this 17 was continued on the 7nR 21 as N19oIN
proved earlier
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[I'&non "1z ™) (10 X1 TR Xnon yaw atT M'wn

N257 DOIN N7 ROUT RIINA KD UMY N0 RHun P a2 "wana [R TRy 0 07
NRZINR INDT 297 RDOTY 777INSD 2oy 12 IRD IPWR RRVAT RIP MRPT W0 nann
ROR 7PN DA K27 0952 IND RAY RETR ROP ARPT 990 NAnn Ram DI ORIT R
DA N2 DOINY 1772 PRID PR ROP2 MK R BT 1190 BaR PR nnma Naa
RD 9020 TITT IPWRT 2 BOINT RAUIR DAR N7 WIDW M PRRwna b v
BOINT INT PR 29257 RAWIA RN TPPRWR RIPODK 957 KAV RIP 1R RP7 RXINH

9'"mY RO RO 19272 2DR N N PR AR M

B2 R2OIT S1NRD XN KD 1INNT 10 PRRAT DR RAWVR 9921 1NN %7 7'M 7R
BaR ¥''27 OB 7Y KUK 1IN RDT R2OVT PPRK A RRT NIRRT DY M R0 "D
SMD 321 N9Y NTMN CnR® AT ' OPUaT CINT RDWT NYTIN PIORT ONRY

27 IApD RITT2

1) mnpn

a) From the mu>w of X2°py "1 in certain o°p109 it results that for x2°py " there is this
chain of mxmu

XIP7 'R K720
NURIIO YW | 1
W PRIIRT 09D
PRwRY PO | 3
WY

2) xn»02according to the Xnx M
a) Here is a chain of "yawa mxmw wHw"

RN*727 X" - A RPAp

NURI PR yw | 1
w0 Ppwn | 2
WOHW PRAR? DI | 3
Y27 PRwn? PR | 4
3) X
a) Nwp

i) The chain of the xn>12 has four mxmw not three
4) "vn
a) Xwp
i) The chain isn’t correct anyway because we established in the first table that
(1) %2% was Rnva by yaw nnmn 8am 09
(2) Not that 221 was &nw1 by a 1pwn nann X2 990
b) y»n

i) The & na prefers a x°wp that’s more obvious — that the chain has four levels
instead of three
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i) But %171 x11 — the essence of the x>wp of the X723 is the same as the xwp of
"9

5) X"wann at Xnon yw 1"
a) Nwp
1) Why didn’t *"w ask this stronger x>wp
(1) in table 1 the %1% was xnv1 to become a 1w
(2) why does the xn>12 say for x2°py " that 1% can become a v v
b) yn
i) Since x2°py " holds in table 1 that ypwn can become a “whw
ii) It’s not 12non to be phnn and say that 12X can’t become a "W oW
iii) But note that

(1) »"wn is right in saying that the X3 realized that there is reason to be pomn
between

(@) table 1 that says *aw 92 is "WHw Ppwn nww
(b) and the xn>>n2 that says in table 2 that >w>5w 923X is *v°27 Ppwn Iww
6) Twnn of the X
a) y™n
i) °n1°o7 X that there only three levels in the xn>92 the same as in table 1

'3 X9V

NWRI DI YW
W POIINT 9D
PRYNRY PR
WO

7) C"waat i aty
a) The x73 could also have listed the three levels this way

'7 X9V

NWRI DI 7w
W PPwRY 9
ORY RN
WO

b) the main point is that in any one case there can’t be both pwn? o2 and 1pwn
1707 because then a >v>21 will result

8) X"wnrn at 77 XM 7"R2 [should be 73 to read prnvn PR 7"7]
a) In the x1nx M when the xna thought that the &n»92 deals with 1112 %3029

b) The xin could also have listed the following four level chain that deals with both
TRPWAY PP and 1P9IRY PRwn

il ehld
nwR PRwn v | 1
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W PYAN? D | 2
W PRwnd PYR | 3
"yoan PRIRD PRwn | 4
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5o "2 PIIT DR 32 TION DOURT 2TR RAWN MIRD oy 8D "D 1T KD 7''72 "0
SWaT ORNYY PINT 21D MARTD 2920 PWH DARRT unp 7102 pRwRT RIT PMTT
2 KON 27 RN N2 OPWRT R M7 N1 27 272 WONRT IR DIpH b
7Y% RIO1 'Y 0T POUR 'DINT WD RPRDDT PR PWR ORD PIT MUY ROINT

:2'117Y WM 1N DIAD TOWI MWIRWT R T5n

RITTY 1ID W KRRV DRI WINTT 7190 PR KD PR "0 e nywa '
B'"7 D'RT ''RADY MIWPRY KON N2 DY "D WP 9T 2YM2AMRA TP P
197 IR P07 KD RMTAWR N2 OPWRT B2 3" MRPT PANTY PORIP 11T PRIBN
TPIWTD QTR RAIN 7112977 RiT U OPINTY RIONRT 217 ROR PPN PRY KON
VWP ODITDT 2ON2WTAR 7D OPINY WO RAP TN KUK RO BRIAWD 2"'YT MAKRPY »pb
NP R RAPIRD 2''0 DRIAWT KPR MIDWRD J19%7 771 IRD2 PRADAT 712 72y

9'"mY PRDN2R N2 DY

1) First nnipn
a) N°mavn na Ppwn are o°n and a7 in the 7y
2) Second nnTpi
@) 7M1 ' MR RAR N2 RO M - WP 07 isn’t Wwon
b) X1 2001 " - XOMAVH M PPWN aren’t WO
3) Third 7P
a) Xy at.mway
i) Pwon oon are Pwon
i) xwp

(1) X1 "2 001 ' says Xomavn N2 Ppwn aren’t won and he presumably
means that neither o°» nor o7 are 2*won

iii) y1°n
(1) o7& Xm0
(2) ®3n 2001 ' refers to o7 only and holds that o is 2 won
4) Fourth mnpn

a) In p9n noon the Ra is 77191 this y17°n because R1°17 12 °01° " uses the word “pwn
that’s 0°27 1w and presumably refers to both a7 and o°n

5) Fifth mn7pn
a) noown at .tw A7 at ka0 'y

b) The &7mxat .10 77 is 7210 on the y17°n of o7& &na7n despite the X579 in P17 noon
because the x7nx at .1v 77 holds that &2°117 12 °01 " uses 21 W only because he
refers to "xnby7 spwn"
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6)

7)

8)

9)

mawn here
a) RnY WIAT WIPHA WA RYNIW VAN
Rapfab}
a) Nwp
1) RP2 WONRT

(1) It can’t be that 072 qwonX since XaxR 12 X*°11 ' said that only what’s 79w
o°nd IS won and o7 isn’t 22 Wl

(2) And it can’t be that 2”2 qWwaon°X since X1°17 12 °01 " said that n°2 spwn
X°ravn aren’t WwWIN

mooin here at 17 &7 17"'7 as explained by X"wnn at 107 8D 77
a) Nwp

i) Why doesn’t the & mx here answer that o2 awon°x and the &m°n of 201 "
RI°I7 isn’t a X°wp because 07X Xnaan

b) y1n

i) Because of the xwp of the xnx in P11 based on the o°a1 1w of the X of
X1 200 '

c) Nwp

i) But m»oIn on .1 A7 was yana that 83°11 12 001 " used o221 1w because he
referred to XnHvT PPwH

d) yrn

i) The y»n of maown on v A7 is a pmy
X"WwAnn at qvnw nywa a"7
a) Nwp

i) When the &n3 here said that it can’t be that 072 “wan°R because Xax 92 x»n "
said that only what’s o°n2 oW1 can be wan

i) why didn’t the &7n3 instead rely on x3ir 12901 "y who said &°mavn n°a spwn
TIWIn R

b) y1n

i) The x7na realized that we could be 77197 this 7271 by saying 2R Xnan —
namely that &1°17 "2 °01 " holds that it’s only 2 that isn’t 9°w2n and that "
X1°17 "2 901 uses o°21 1w because he refers to xnoyT Ppwn

i) And
(1) although this x>7%0 is a pm7

(2) the xn prefers a 72mn — that only what’s 215 79wa can be wan — for
which there’s no x>7°» altogether

10) 7wnn of the &
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a) 117°n by 29X to the Xowp of "R IWONRT W1 K7
i) DY oW apwn 1T TUNWY 1732 777V 000w NaT D 310 AN P
11)>"wn
a) v nw nywa the 719 was still wet and the o°n was 2°won the awa at nvnw nyw
12) mooin at awenw nywa 7"7 as explained by X"wnmn at avnw nywa "7
a) “Xmw says only 11217 o°n are won
b) now
i) At nwnw nyw the oon is already Pwion
i) So how is it the o>n are 2*won at mu nw nyw
c) ynas explained by X"wonn at nvnw nywa "y

1) must be contrary to *"w" that the 715 was 7w217 while the 775 was still in the
771 and the o°n was still 172117 to the 7

13) qwni of ®"wann
a) Nwp
1) Why didn’t m»oin ask this more simple &wp to *"wA

ii) If the 7w>i happened in the wpn how does this fit with X1an "2 °0v 'y who
says *won R? XAy N2 pwn

b) yn
i)  We could be 79 this X*wp by saying o7& &»a1n
i) Now
(1) It’s true that there’s a X*wp to this 37’0 and that the yy7°n to this X°wp is a
PmT

(2) nmooin still prefers a xwp to Sxmw for which there can be no x>7» at all
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1) mnpn

a) The x7nx discusses and resolves several ma°no
2) First 7°no

a) modT MmN oNn .7 A7

i) ov " says for ywy ' that on nod 29y it’s 2>71°2 N to be ™%n amnn Xnvn by
19w with aRnY 7N

b) noo7 RN™M2 0N IV A7

i) >0 " says for yunr ' that on nod 27w it’s 0°7°2 MoK to be %N N &nwn by
79w with 1xnY AN

3) y1nto the first 77°no
a) In noo7 mawn — 01 " quotes the mvw of Pynw ™ for ywir '
b) noo7 ®n*12 is the quew of *ov ' himself for ywy

4) Second 7°nd
a) modT MmN oNn .7 A7

i) ov " says for ywy ' that on nod 29w it’s 2°71°2 N to be ™%n amnn Xnwn by
79w with ax»nv 71N

b) oo A% 79w N*2anT N2 0N v A7

i)  ywur " says that it’s 2w to be axmw 272 to %N 7N but it’s 2°7°2 MOX tO
be ™%n fmnn Knwn

5) y1°nto the second 7°nd
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a) InnooT mwn — 01 " quotes the nvw of Nyaw " for ywin ™

b) poo 7% 79w nanT ’n>2 s the wsw of “o1 ' himself for ywy '
6) Third 77°nd

a) P50 12 TPNUW NAnT XN*2 0N .0 A7

i)  ywyr " says that it’s 2w to be axmw 273 to %0 7N but it’s 2°7°2 MMOX tO
be ™%n 7NN Xnun

b) mMawiw nanT XN™HN2 0N .0 A7
i) YW ' says that it’s 0 to be 7170 17N R even 0°7°2
C) ynto the third 7°no

i) mhawiw nhanT ’n»02 applies both for so1 " and Pynw " and is based on 7097
hrals!

2) X"wann
a) Nwp

i) when the X3 is about to ask the third 77°no and doesn’t yet realize that the
xn»02 of m1awaw noan is based on 19 1n 70957

i) Why doesn’t the X7n3 at that point ask that there is a 77°no from nos7 7awn to
the xn»92 of 7awaw n°an and answer that 772wiw n°an is based on P17 7097

b) yn

1) The x7na prefers to ask a i77°no between min>»72 that both involve 7170 and
don’t involve nos

3) Twnn of maoin as explained by X"wann
a) Nwp
i) Since ynw " is 72 7°nn to be ™%n xnwn and then to be ™%n 7w
il) in what sense is "17n different than nxnv
4) R"wamn
a) Nwp

i) The ™27 in which msoin asks this xwp appears after the X3 asks and
answers the second 77°no namely the 77°no between the noo7 mwn and the
Xn»02 of poo % 79w nhan

i) why doesn’t m»oIn ask this x*wp immediately after the y17°n to the first 79°no
between noo7 mawn and noo7 Xn>12 when the &ans first resolves that pynw " is
0°7°2 "™1%0 7170 RAL? NN

b) v n

i) mooin asks its xwp only after the & nx answers the second 77°no by saying
that 1ynw " holds that it’s 70 to be 2°7°2 7m1n X»wn in the case of 791w noan
Po0 177 that doesn’t deal with roo
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ii) so it’s clear that for nwnw " the 79w 127 for ™%n ma1n applies even where
there’s no special 17 of 797w based on nos

iii) and this strengthens the xwp of mooin that in what sense is Y20 72170
different than nxnv nman
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